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CHAPTER 1 REVIEW ‘ PRE-CALC

1. Find the SLOPE-INTERCEPT form of the equation of the line that passes through the point (-3, 2) and has a
slope of -4. % - Lf ] f\:

2. Find the STANDARD FORM of the equation of the line that passes through the point (-1, -2) and a slope of 3.

F-y - |
3. Find the SLOPE-INTERCEPT form of the equation of the line through the point (2, 4) and is parallel to the

line y = 3x — 5. Y I
4. Find the STANDARD form of the equation of the line through the point {-12, 9) and has.an undefined slope.

}i: P 5 *’l

5. Find the GENERAL form of the equation of the line through the point (5, -7) and has zero slope. TR E {7

6. Determine whether the lines are parallel, perpendicular, or neither. Show work and explain.

Ly: (2,4), (-3,5) Ly: (-3,1), (-2, 6) \Jm) Slaped e Gpp (€] i*}(“fx’&
7. Does the set of ardered pairs represent y as a function of x?

a) ((3,2), (14), (1,6, (0,8} N - b) {(24) 3,4),(4,4), (54} v{j(g

NG

8. Determine if the equation represents a function: 2x —y*=3 _ , - |
9. What is the domain of the function? §f>

a)y =3x%>+5x -8 J}' b) f(x) =+vx +2 u ) fx) =—

09 .
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10. Find the domain of the functlon graphed be!ow AN B U =y
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11. Determine the intervals on which the function is mcreasmg, decreasing, or constant.
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12. Determine whether the function is even, odd, or neither.

a) f(x) = —3x%+x -1 . b) y = 2x* =3 c) f(x) = 5x3% + x
N k. '®

13. Determine the common function and describe the transformation that occurs.

A (."-"z o stgE T s
g =—Vx+7-3 o retlect over X

14. Find the equation for the function graphed below.

a) . i b) )/’

\L L T
Y =Ix
TN R
15. Graph: y=(x—1)® +2 Foait 16. Graph: y =3lx + 2] -4
, D
) “a | .-’f;
4

17. If f(x) = x% — 3xand g(x) = x — 2, find (f + g)(x). }&3 e
18. If f(x) = —3x2 + 2x + 7 and g(x) = 3x — 2, find (f — g)(x). -3 e 9
19, 1 f(x) = 2x + land g(x) = x — 1, find (F o g) () (ot b= 22

20. Find the inverse of the function f(x) = 3x — 1 K-l %m
i

L
2
21. Find the inverse of the function f(x) = 53- 20 y"‘": o
(A

tF

22. Find the inverse of the function £ (k) = {(1,~5), (—5,1),(=9,8)} ~» 3 (s, ;:} } (1, —§§>; [

23. Verify the inverses: f(x) =2x*—-1 g(x) = 3‘ ’x—?
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